Pof. Jméno 10.1. 18.1. 24.1. 1.2. 8.2. 14.2. 21.2. Celkem
1 [Marholt David 10 8 8 7 10 3 6 52
2 |Stuchlik Milan 4 9 5 4 7 2 10 41
3 |Brezik Mira 4 4 7 10 8 0 6 39
4 |Hutka Michal 5 2 12 0 4 10 3 36
5 |Kocian Martin 3 6 8 5 4 2 8 36
6 |Kadl¢ak Ondra 3 4 8 2 8 6 4 35
7 |Sudolsky JiFi 3 0 8 0 6 3 15 35
8 [Stastny David 6 5 4 0 0 11 1 27
9 |Kocian Josef 1 4 1 4 3 4 9 26
10 |Kocian Petr 5 5 0 3 4 5 4 26
11 |Gabrhelik Ondra 7 1 3 2 3 7 2 25
12 |Lapcik Martin 1 6 3 6 3 4 2 25
13 |Strasak Petr 3 3 0 4 5 5 3 23
14 |Precechtél Bretislav 2 1 1 7 4 2 4 21
15 |Svejcara Dan 2 2 2 4 5 6 0 21
16 |Vasicek Richard 2 0 3 5 6 2 3 21
17 |Vlachynisky Radek 0 3 1 4 5 2 5 20
18 |Janis Jifi 0 3 3 8 0 5 0 19
19 [Kocian Kamil 1 6 2 3 3 4 0 19
20 |Rezny Martin 1 1 5 0 0 10 2 19
21 |Horka Vlastimil 2 3 3 3 3 1 3 18
22 |Horka Zbynék 0 2 5 1 2 4 3 17
23 |Kadl¢ak Jakub 5 4 1 0 0 4 3 17
24 |Hanak Petr 2 1 3 3 2 3 2 16
25 |Prokop Olda 1 2 0 1 1 7 4 16
26 |Marholt Pavel 3 2 3 5 0 0 0 13
27 |Musil Jara 2 0 3 0 4 0 4 13
28 [Snopek Petr 1 3 1 2 0 0 6 13
29 [Strasak P.ml. 0 1 5 2 2 1 2 13
30 |[Kasparek Martin 1 2 2 1 2 3 1 12
31 |Precechtél Robert 0 2 0 4 0 2 4 12
32 [Chocholaty Bob 4 0 0 2 1 2 2 11
33 [Knichal Martin 1 4 3 0 2 0 1 11
34 |Kocian Radek 0 0 3 2 2 2 2 11
35 |Wozar Vladimir 1 0 2 1 2 3 2 11
36 |Hradilek Jan 1 4 3 0 2 0 0 10
37 |Petras Jaroslav 3 1 1 0 1 1 3 10
38 |Kedru$ Radek 2 1 1 2 0 1 2 9
39 [Regent Lubo3s 0 2 3 0 1 0 2 8
40 |Gabrhelik Josef 2 0 2 0 2 1 0 7
41 |Jufena David 3 1 0 3 0 0 0 7
42 |KaSparek Stanislav 3 0 0 3 1 0 0 7
43 |Kundera Tomas 1 0 1 4 0 0 0 6
44 |Bohus 1 1 0 2 0 0 1 5
45 |Gabrhelik.Vit 0 0 1 0 1 1 2 5
46 |Jufena Lukas 1 0 2 0 0 1 1 5
47 |vlastni 0 2 0 0 1 1 1 5
48 |Jufena Pavel 0 0 3 0 0 0 1 4
49 |KrkoSka Roman 0 3 0 0 0 1 0 4
50 |Sattek Martin 0 0 0 2 1 0 1 4
51 |Vojtasek Jakub 0 0 0 1 0 1 2 4
52 |Zapletal Bedfich 1 0 0 2 0 0 1 4
53 |Kopcil Petr 0 1 1 1 0 0 0 3




54

Drabek Lukas

55

Pavelka Jifi -Gabrosi

56

Capka Michal

57

Dolezal Filip

58

Lahula M.

59

Vojtasek Vaclav

60

Pavelka Jifi - Demizon
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